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IWSLT Chinese to English Translation Task M) I IE A B PR A
Sre | 1 74 H HH T LT #9 % IR HHILAEN-Best Bl {5 1%
Ref | Do you have any tea under five AR L A B
hundred dollars ? I 1) FH e

Bestl | Do vou have any less than five
hundred dollars tea ?

Sre | 76 2 HF g6 LT HT 2.

o AR AR B

Ref | / waf*fd erﬂsome tea under five 0 5% 42 BELT L) gl PR S A
hundred dollars . S A TR R T HE
Bestl | I would like tea under five hundred YA AR

dollars . e Z2%A5 B
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Do you have any tea under
five hundred dollars ?
Do you have any less than
five hundred dollars tea ?
Do you have any under five
hundred dollars tea ?
Do you any teas under five
hundred dollars ?
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sim(e,e") = Dice(NGr,(e), NGr,(e"))
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Il 2520

GCO = 0;

A'= MERT (5%, T4, GC");

while not converged do
Gt — CreatG(Strain Ttrain Sdev Stest )Lt)'
GC'! = StructLP(GY);
At+1 — MERT(sdev Tdev Gct+1).

end while

return last (GC*, A);

ZRGCO llZgAt lZrGCt
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= HHEAE IWSLT
> YNZEEd: 81K fJ%, 655K H1 1A, 806K FE 3 iA]
> JF & Eh: devset8+dialog
> MAETE: devset9

devset8+dialog devset9

Baseline 48.79 44.73
Struct-LP 49.86 45.54
Rerank-GC 50.66 46.52
Decode-GC 51.20 47.31

> Struct-LP : HLaliffi HEE T ) — 28U E R (GCo) MHiFEHEy
> Rerank-GC:AY FH & 1~ B 11— &A% B AN B ds kA 2t = 1)+
> Decode-GC: fifi F 3& 1 K i) — EUPEAE B AN B R A AU
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